



Digital version

CS101 Calculus 2 Section C - Homework 10

Mher Saribekyan A09210183

April 11, 2024

Exercise 1 (100 points).

Study the convergence of the following series:

a) $\sum_{n=1}^{\infty} \frac{n!}{1992^n};$

$$\lim_{n \rightarrow \infty} \frac{n!}{1992^n} = \lim_{n \rightarrow \infty} \frac{1 \cdot 2 \cdot \dots \cdot n}{1992 \cdot 1992 \cdot \dots \cdot 1992} \rightarrow \infty \xRightarrow{\text{term test}} \sum_{n=1}^{\infty} \frac{n!}{1992^n} \rightarrow \text{diverges}$$

b) $\sum_{n=1}^{\infty} \frac{n^2-1}{\sqrt{n^4+2n^2+5}};$

$$\lim_{n \rightarrow \infty} \frac{n^2-1}{\sqrt{n^4+2n^2+5}} = \lim_{n \rightarrow \infty} \frac{n^2-1}{n^2 \sqrt{1+\frac{2}{n^2}+\frac{5}{n^4}}} \rightarrow 1 \xRightarrow{\text{term test}} \sum_{n=1}^{\infty} \frac{n^2-1}{\sqrt{n^4+2n^2+5}} \rightarrow \text{diverges}$$

c) $\sum_{n=1}^{\infty} \frac{\sqrt{n+1}-\sqrt{n-1}}{\sqrt{n+2}};$

$$\frac{\sqrt{n+1}-\sqrt{n-1}}{\sqrt{n+2}} = \frac{(\sqrt{n+1}-\sqrt{n-1})}{\sqrt{n+2}} \cdot \frac{(\sqrt{n+1}+\sqrt{n-1})}{(\sqrt{n+1}+\sqrt{n-1})} = \frac{2}{\sqrt{n+2}(\sqrt{n+1}+\sqrt{n-1})}$$

$$\lim_{n \rightarrow \infty} \frac{\frac{2}{\sqrt{n+2}(\sqrt{n+1}+\sqrt{n-1})}}{\frac{1}{n}} = \frac{2n}{n\sqrt{1+\frac{2}{n}}\left(\sqrt{1+\frac{1}{n}}+\sqrt{1-\frac{1}{n}}\right)} = 1$$

$$\sum_{n=1}^{\infty} \frac{1}{n} \xrightarrow{1 \leq 1} \text{diverges} \xRightarrow{\text{LCT}} \sum_{n=1}^{\infty} \frac{\sqrt{n+1}-\sqrt{n-1}}{\sqrt{n+2}} \rightarrow \text{diverges}$$

d) $\sum_{n=2}^{\infty} \frac{\sin n+2}{\sqrt[4]{2n^5-2}};$

$$\frac{\sin n+2}{\sqrt[4]{2n^5-2}} \leq \frac{3}{\sqrt[4]{2n^5-2}}, \text{ and } \lim_{n \rightarrow \infty} \frac{\frac{3}{\sqrt[4]{2n^5-2}}}{\frac{3}{\sqrt[4]{2}n^{\frac{5}{4}}}} = 1$$

$$\sum_{n=1}^{\infty} \frac{3}{\sqrt[4]{2}} \frac{1}{n^{\frac{5}{4}}} \xrightarrow{\frac{5}{4} > 1} \text{converges} \xRightarrow{\text{LCT}} \sum_{n=2}^{\infty} \frac{3}{\sqrt[4]{2n^5-2}} \rightarrow \text{converges} \xRightarrow{\text{DCT}} \sum_{n=2}^{\infty} \frac{\sin n+2}{\sqrt[4]{2n^5-2}} \rightarrow \text{converges}$$

e) $\sum_{n=1}^{\infty} \left(\frac{2n^3-1}{2n^3-n} \right)^{-n}$;

$$\lim_{n \rightarrow \infty} \left(\frac{2n^3-1}{2n^3-n} \right)^{-n} = \lim_{n \rightarrow \infty} \left(1 - \frac{n-1}{2n^3-n} \right)^{-n \cdot \frac{n-1}{2n^3-n} \cdot \frac{2n^3-n}{n-1}} = \lim_{n \rightarrow \infty} e^{\frac{n^2-n}{2n^3-n}} = 1$$

$$\therefore \text{by term test } \sum_{n=1}^{\infty} \left(\frac{2n^3-1}{2n^3-n} \right)^{-n} \rightarrow \text{diverges}$$

f) $\sum_{n=1}^{\infty} \cos \frac{2021}{n+2022}$;

$$\lim_{n \rightarrow \infty} \cos \frac{2021}{n+2022} = \cos 0 = 1 \xrightarrow{\text{term test}} \sum_{n=1}^{\infty} \cos \frac{2021}{n+2022} \rightarrow \text{diverges}$$

g) $\sum_{n=1}^{\infty} \frac{5+\sin \frac{1}{n}}{2^n-n}$;

$$\frac{5+\sin \frac{1}{n}}{2^n-n} \leq \frac{6}{2^n-n} \text{ and } \lim_{n \rightarrow \infty} \frac{\frac{6}{2^n-n}}{\frac{6}{2^n}} = \frac{2^n}{2^n-n} = \frac{1}{1-\frac{n}{2^n}} = 1$$

$$\sum_{n=1}^{\infty} 6 \left(\frac{1}{2} \right)^n \xrightarrow{|\frac{1}{2}| < 1} \text{converges} \xRightarrow{\text{LCT}} \sum_{n=1}^{\infty} \frac{6}{2^n-n} \rightarrow \text{converges} \xRightarrow{\text{DCT}} \sum_{n=1}^{\infty} \frac{5+\sin \frac{1}{n}}{2^n-n} \rightarrow \text{converges}$$

h) $\sum_{n=1}^{\infty} \frac{5^n+4n^5}{6^n+n^6}$;

$$\lim_{n \rightarrow \infty} \sqrt[n]{\frac{5^n+4n^5}{6^n+n^6}} = \lim_{n \rightarrow \infty} \frac{5 \sqrt[n]{1+\frac{4n^5}{5^n}}}{6 \sqrt[n]{1+\frac{n^6}{6^n}}} = \frac{5}{6} \xrightarrow{\text{root test}} \sum_{n=1}^{\infty} \frac{5^n+4n^5}{6^n+n^6} \rightarrow \text{converges}$$

i) $\sum_{n=1}^{\infty} \left(\frac{5n+3}{2+5n} \right)^{n^2}$;

$$\lim_{n \rightarrow \infty} \sqrt[n]{\left(\frac{5n+3}{2+5n} \right)^{n^2}} = \lim_{n \rightarrow \infty} \left(\frac{5n+2+1}{2+5n} \right)^n = \lim_{n \rightarrow \infty} \left(1 + \frac{1}{2+5n} \right)^{n \cdot \frac{2+5n}{2+5n}}$$

$$\lim_{n \rightarrow \infty} e^{\frac{n}{2+5n}} = e^{\frac{1}{5}} > 1 \xrightarrow{\text{root test}} \sum_{n=1}^{\infty} \left(\frac{5n+3}{2+5n} \right)^{n^2} \rightarrow \text{diverges}$$

j) $\sum_{n=1}^{\infty} \left(\frac{2n^3-1}{2n^3+2} \right)^{n^4}$;

$$\lim_{n \rightarrow \infty} \sqrt[n]{\left(\frac{2n^3-1}{2n^3+2} \right)^{n^4}} = \lim_{n \rightarrow \infty} \left(1 - \frac{3}{2n^3+2} \right)^{-\frac{2n^3+2}{3} \cdot n^3 \cdot \frac{3}{2n^3+2}} = \lim_{n \rightarrow \infty} e^{-\frac{3n^3}{2n^3+2}} = \frac{1}{e^{\frac{3}{2}}} < 1$$

$$\therefore \text{by root test } \sum_{n=1}^{\infty} \left(\frac{2n^3-1}{2n^3+2} \right)^{n^4} \rightarrow \text{converges}$$

k) $\sum_{n=1}^{\infty} \frac{1}{n^{10}} \left(\frac{6}{5}\right)^n$;

$$\lim_{n \rightarrow \infty} \sqrt[n]{\frac{1}{n^{10}} \left(\frac{6}{5}\right)^n} = \lim_{n \rightarrow \infty} \frac{6}{5} \left(\frac{1}{\sqrt[n]{n}}\right)^{10} = \frac{6}{5} \xrightarrow{\text{root test}} \sum_{n=1}^{\infty} \frac{1}{n^{10}} \left(\frac{6}{5}\right)^n \rightarrow \text{diverges}$$

l) $\sum_{n=1}^{\infty} \frac{(-1)^n}{\ln^2 n + 10}$;

$$\lim_{n \rightarrow \infty} \frac{1}{\ln^2 n + 10} = 0 \text{ and } \ln n \uparrow \Rightarrow \ln^2 n + 10 \uparrow \Rightarrow \frac{1}{\ln^2 n + 10} \downarrow$$

$$\therefore \sum_{n=1}^{\infty} \frac{(-1)^n}{\ln^2 n + 10} \rightarrow \text{converges}$$

m) $\sum_{n=1}^{\infty} \frac{(2n+1)!!}{(3)^n n!}$;

$$a_n = \frac{(2n+1)!!}{(3)^n n!} a_{n+1} = \frac{(2(n+1)+1)!!}{(3)^{(n+1)}(n+1)!}$$

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} = \frac{\frac{1 \cdot 3 \cdot \dots \cdot (2n+1) \cdot (2n+3)}{3(3)^n \cdot (1 \cdot 2 \cdot \dots \cdot n \cdot (n+1))}}{\frac{1 \cdot 3 \cdot \dots \cdot (2n+1)}{(3)^n \cdot (1 \cdot 2 \cdot \dots \cdot n)}} = \lim_{n \rightarrow \infty} \frac{2n+3}{3(n+1)} = \frac{2}{3} \xrightarrow{\text{ratio test}} \sum_{n=1}^{\infty} \frac{(2n+1)!!}{(3)^n n!} \rightarrow \text{converges}$$

n) $\sum_{n=1}^{\infty} \frac{\sin \pi n}{\sqrt[3]{4n+1}}$;

$$\sin \pi n = 0, \forall n \in \mathbb{N} \Rightarrow \sum_{n=1}^{\infty} \frac{\sin \pi n}{\sqrt[3]{4n+1}} = 0$$

o) $\sum_{n=5}^{\infty} \frac{1 \cdot 4 \cdot 7 \cdot \dots \cdot (3n-2)}{2 \cdot 6 \cdot 10 \cdot \dots \cdot (4n-2)}$;

$$\lim_{n \rightarrow \infty} \frac{\frac{1 \cdot 4 \cdot 7 \cdot \dots \cdot (3n-2) \cdot (3n+1)}{2 \cdot 6 \cdot 10 \cdot \dots \cdot (4n-2) \cdot (4n+2)}}{\frac{1 \cdot 4 \cdot 7 \cdot \dots \cdot (3n-2)}{2 \cdot 6 \cdot 10 \cdot \dots \cdot (4n-2)}} = \lim_{n \rightarrow \infty} \frac{3n+1}{4n+2} = \frac{3}{4} \xrightarrow{\text{ratio test}} \sum_{n=5}^{\infty} \frac{1 \cdot 4 \cdot 7 \cdot \dots \cdot (3n-2)}{2 \cdot 6 \cdot 10 \cdot \dots \cdot (4n-2)} \rightarrow \text{converges}$$

p) $\sum_{n=1}^{\infty} \left(\frac{1}{\sqrt{4n-2}} - \frac{1}{\sqrt{4n+2}} \right)$;

$$\frac{1}{\sqrt{4n-2}} - \frac{1}{\sqrt{4n+2}} = \frac{\sqrt{4n+2} - \sqrt{4n-2}}{\sqrt{4n-2}\sqrt{4n+2}} = \frac{4}{\sqrt{4n-2}\sqrt{4n+2}(\sqrt{4n+2} + \sqrt{4n-2})}$$

$$\lim_{n \rightarrow \infty} \frac{\frac{4}{\sqrt{4n-2}\sqrt{4n+2}(\sqrt{4n+2} + \sqrt{4n-2})}}{\frac{1}{4n^{\frac{3}{2}}}} = \frac{16n^{\frac{3}{2}}}{\sqrt{4n-2}\sqrt{4n+2}(\sqrt{4n+2} + \sqrt{4n-2})} = 1$$

$$\sum_1^{\infty} \frac{1}{16n^{\frac{3}{2}}} \xrightarrow{\frac{3}{2} > 1} \text{converges} \xrightarrow{\text{LCT}} \sum_{n=1}^{\infty} \left(\frac{1}{\sqrt{4n-2}} - \frac{1}{\sqrt{4n+2}} \right) \rightarrow \text{converges}$$

q) $\sum_{n=2}^{\infty} \frac{\cos \frac{2}{\sqrt{n}} \sin \frac{3}{n}}{\sqrt{2n}}$;

$$\lim_{n \rightarrow \infty} \frac{\frac{\cos \frac{2}{\sqrt{n}} \sin \frac{3}{n}}{\sqrt{2n}}}{\frac{3}{\sqrt{2n}^{\frac{3}{2}}}} = \lim_{n \rightarrow \infty} \frac{\cos \frac{2}{\sqrt{n}} \cdot \sin \frac{3}{n}}{\frac{3}{n}} = 1$$

$$\sum_{n=2}^{\infty} \frac{3}{\sqrt{2n}^{\frac{3}{2}}} \xrightarrow{\frac{3}{2} > 1} \text{converges} \xrightarrow{\text{LCT}} \sum_{n=2}^{\infty} \frac{\cos \frac{2}{\sqrt{n}} \sin \frac{3}{n}}{\sqrt{2n}} \rightarrow \text{converges}$$

r) $\sum_{n=1}^{\infty} \sin^4 \frac{\sqrt{2n^2-1}}{n^2+1};$

$$\lim_{n \rightarrow \infty} \frac{\sin^4 \frac{\sqrt{2n^2-1}}{n^2+1}}{\frac{4}{n^4}} = \lim_{n \rightarrow \infty} \left(\frac{\sin \frac{n\sqrt{2-\frac{1}{n^2}}}{n^2\left(1+\frac{1}{n^2}\right)}}{\frac{\sqrt{2}}{n}} \right)^4 = 1$$

$$\sum_{n=1}^{\infty} \frac{4}{n^4} \xrightarrow{4>1} \text{converges} \xRightarrow{\text{LCT}} \sum_{n=1}^{\infty} \sin^4 \frac{\sqrt{2n^2-1}}{n^2+1} \longrightarrow \text{converges}$$

s) $\sum_{n=5}^{\infty} \frac{1}{n \ln n (\ln \ln n)^3};$

$$n \geq 5 \implies \frac{1}{n \ln n (\ln \ln n)^3} \geq 0 \text{ and } n \uparrow, \ln n \uparrow \implies \frac{1}{n \ln n (\ln \ln n)^3} \downarrow$$

$$\int_5^{\infty} \frac{1}{x \ln x (\ln \ln x)^3} dx \stackrel{u=\ln x}{=} \int_{\ln(5)}^{\infty} \frac{1}{u (\ln u)^3} du \stackrel{v=\ln u}{=} \int_{\ln(\ln(5))}^{\infty} \frac{1}{v^3} dv$$

$$\int_1^{\infty} \frac{1}{v^3} dv \xrightarrow{3>1} \text{converges} \xRightarrow{\text{integral test}} \sum_{n=5}^{\infty} \frac{1}{n \ln n (\ln \ln n)^3} \longrightarrow \text{converges}$$

t) $\sum_{n=3}^{\infty} \frac{1}{n(\ln n)^{1.5}}.$

$$n \geq 3 \implies \frac{1}{n(\ln n)^{1.5}} \geq 0 \text{ and } n \uparrow, \ln n \uparrow \implies \frac{1}{n(\ln n)^{1.5}} \downarrow$$

$$\int_3^{\infty} \frac{1}{x(\ln x)^{1.5}} dx \stackrel{u=\ln x}{=} \int_{\ln 3}^{\infty} \frac{1}{u^{\frac{3}{2}}} du \xrightarrow{\frac{3}{2}>1} \text{converges} \xRightarrow{\text{integral test}} \sum_{n=3}^{\infty} \frac{1}{n(\ln n)^{1.5}} \longrightarrow \text{converges}$$